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Chapter 08

Reporting and Interpreting Property, Plant, and Equipment; Natural Resources; and Intangibles

ANSWERS TO QUESTIONS

1.
Long-lived assets are noncurrent assets, which a business retains beyond one year, not for sale, but for use in the course of normal operations. Long-lived assets include land in use, plant and equipment, natural resources, and certain intangibles such as a patent used in operating the business. Long-lived assets are acquired because of the future use that is expected of them. Thus, they may be thought of as a bundle of future services to be used over a period of time to earn revenue. As those services are used, as in the case of a machine, the cost of the asset is allocated as a periodic expense (i.e., matched with revenue).

2.    The fixed asset turnover ratio =


 

Net sales

 

[(Beginning net fixed asset balance + Ending net fixed asset balance) ( 2]


This ratio measures how efficiently a company utilizes its investment in property, plant, and equipment over time.  The ratio can also be compared to the ratio for the company’s competitors.

3.
Long-lived assets are classified as follows:


(1)
Tangible long-lived assets—assets that are tangible (i.e., have physical substance) and long-lived (i.e., beyond one year); they are acquired for use in the operation of a business and are not intended for resale. They are comprised of three different kinds of assets:



(a)
Land—not subject to depreciation.



(b)
Plant and equipment—subject to depreciation.



(c)
Natural resources—mines, gravel pits, and timber tracts. Natural 
resources are subject to depletion.


(2)
Intangible long-lived assets—assets held by the business because of the special valuable rights that they confer; they have no physical substance. Examples are patents, copyrights, franchises, licenses, trademarks, technology, and goodwill. Intangible assets with definite lives are subject to amortization.

4.
When a long-lived asset is acquired, it is recorded in the accounts in conformity with the cost principle. That is, the acquisition cost of a long-lived asset is the cash equivalent price paid for it plus all incidental costs expended to obtain it, to place it in the location in which it is to be used, and to prepare it for use.
5.
In measuring and reporting long-lived assets, the matching principle is applied. As a long-lived asset is used, revenues are earned over a period of time. Over that same period of time, the long-lived asset tends to be used up or worn out. As a consequence, under the matching principle, the acquisition cost of the asset must be allocated to the periods in which it is used to earn revenue. In this way the cost of the asset is matched, as expense, with the revenues as they are earned from period to period through the use of the asset.

6.
a.
Capital expenditures—expenditures of resources (i.e., assets given up or debt incurred) for a service or asset that will help earn revenue for periods beyond the current accounting period. Capital expenditures should be debited to appropriate asset accounts and then allocated to those future periods in which revenues will be earned and against which the expenditures will be matched.



Revenue expenditures—expenditures that help earn revenue only for the current period. Revenue expenditures are debited to appropriate expense accounts in the period in which incurred.


b.
Ordinary repairs—expenditures for the normal maintenance and upkeep of machinery and other tangible long-lived assets that are necessary to keep the assets in their usual operating conditions. Generally, ordinary repairs are recurring in nature, involve relatively small amounts at each occurrence and do not extend the useful estimated life of the asset. Ordinary repairs are debited to expense in the period in which incurred.


Improvements—unusual, nonrecurring, major renovations that are necessary because of unusual conditions. Generally, they are large in amount, not recurring, and tend to either make the asset more efficient or to extend its useful life. Extraordinary repairs are debited to the appropriate asset accounts (or alternatively to the accumulated depreciation accounts) and in that way affect the amount of depreciation expense for the remaining estimated life of the asset.

7.
Depreciation—allocation of the cost of a tangible long-lived asset over its useful life. Depreciation refers to allocation of the costs of such items as plant and equipment, buildings, and furniture.


Depletion—allocation of the cost of a natural resource over its useful life. It is identical in concept to depreciation except that it relates to a different kind of asset, depletable natural resources.


Amortization—allocation of the cost of an intangible asset over its estimated useful life. Conceptually, it is the same as depreciation and depletion except it relates to an intangible asset.

8.
To compute depreciation, the three values that must be known or estimated are:


Cost—the actual total expenditures incurred in acquiring the asset in conformity with the cost principle.


Estimated useful life—the estimated length of time that the asset will be used by the present owner for the purposes for which it was acquired.


Residual value—the estimated amount of cash that is expected to be recovered at the end of the estimated useful life of the asset. The residual value is the estimated cash recovery amount minus the estimated cost of removing and disposing of the asset at the end of its estimated useful life.


Notice that, on the acquisition date, the first of these values is an actual known amount, while the latter two are estimates.

9.
The estimated useful life and estimated residual value of a long-lived asset when used for depreciation purposes relate to the current owner-user and not to all potential users of the asset because the asset’s cost must be allocated to the revenue that it generates during the period in which it is to be used by the current owner. The fact that the current owner may dispose of the asset and others may use it to earn revenues for a number of periods after that is of no consequence to the measurement of the asset and income for the current owner (other than for the effect of estimated residual value).

10.
a.
The straight-line method of depreciation causes an equal amount of depreciation expense to be apportioned to, or matched with, the revenues of each period. It is especially appropriate for tangible long-lived assets that are used at an approximately uniform level from period to period.


b.
The units-of-production method of depreciation causes a depreciation expense pattern that varies in amount with the rate at which the asset is used productively each year. For example, if in the current year the asset is used twice as much as in the prior year, twice as much depreciation expense would be matched with the revenue of the current year as compared with the previous year. Usually use is measured in terms of productive output. The units-of-production method of depreciation is particularly appropriate for those assets that tend to earn revenue with use rather than with the passage of time. Thus, it normally would apply to assets that are not used at a uniform rate from period to period.


c.
The double-declining-balance method of depreciation is a form of accelerated depreciation, causing a higher amount of depreciation expense to be matched with revenue in early periods of the estimated useful life of the asset.  The double-declining-balance method is particularly appropriate when the long-lived assets perform more efficiently and therefore produce more revenue in the early years of their useful life than in the later years.

11.
The cost of an addition to an existing long-lived asset should be depreciated over the shorter of the estimated life of the addition or the remaining life of the existing asset to which it relates. This rule is necessary because an addition to an existing long-lived asset has no use after the useful life of the existing asset has expired.
12. Asset impairment—when events or changes in circumstances cause the book value of long-lived assets to be higher than their related estimated future cash flows.  It is accounted for by writing down the asset to the asset’s fair value and recording a loss.
13. When equipment is sold, the Equipment account is credited for the asset’s historical cost.  Its related Accumulated Depreciation account is debited for the amount representing prior usage.  The Cash account is debited for the sales price.  If the cash received exceeds the cost less accumulated depreciation (net book value), a Gain on Sale of Equipment is recorded for the difference.  If the cash received is lower than the net book value, a Loss on Sale of Equipment is recorded for the difference.   Net book value is the asset’s historical cost less accumulated depreciation on the asset.
14. An intangible asset is acquired and held by the business for use in operations and not for sale. Intangible assets are acquired because of the special rights they confer on ownership. They have no physical substance but represent valuable rights that will be used up in the future. Examples are patents, copyrights, trademarks, technology, franchises, goodwill, and licenses.

When an intangible asset is purchased, managers determine if it has a definite or indefinite life.  If it has a definite life, the intangible asset’s cost is amortized on a straight-line basis over its expected useful life.  However, an intangible asset with an indefinite life is not amortized, but is tested annually for probable impairment.

15. Goodwill represents an intangible asset that exists because of the good reputation, customer appeal, and general acceptance of a business. Goodwill has value because other parties often are willing to pay a substantial amount for it when they buy a business. Goodwill should be recorded in the accounts and reported in the financial statements only when it has been purchased at a measurable cost. The cost of goodwill is measured in conformity with the cost principle.  Because it is considered to have an indefinite life, goodwill is not amortized, but it is reviewed annually for impairment of value.

16. Depreciation expense is a noncash expense.  That is, each period when depreciation is recorded, no cash payment is made. (The cash outflow associated with depreciation occurs when the related asset is first acquired.)  Since no cash payment is made for depreciation, the effect of the depreciation expense on net income needs to be reversed in the reconciliation to cash flows.  Depreciation expense was originally subtracted to arrive at net income; thus, to reverse its effect, depreciation expense needs to be added back to net income on the statement of cash flows (indirect method).

ANSWERS TO MULTIPLE CHOICE

  1.  a
  2.  c
  3.  b
  4.  b
  5.  a       

  6.  d
  7.  a
  8.  d
  9.  d
10.  c
Authors' Recommended Solution Time
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*  Due to the nature of this project, it is very difficult to estimate the amount of time students will need to complete the assignment.  As with any open-ended project, it is possible for students to devote a large amount of time to these assignments.  While students often benefit from the extra effort, we find that some become frustrated by the perceived difficulty of the task.  You can reduce student frustration and anxiety by making your expectations clear.  For example, when our goal is to sharpen research skills, we devote class time to discussing research strategies.  When we want the students to focus on a real accounting issue, we offer suggestions about possible companies or industries.

MINI-EXERCISES

M8–1.

	
	Asset
	Nature
	Cost 

Allocation Concept

	(1)
	Tractors
	E
	DR

	(2)
	Land in use
	L
	NO

	(3)
	Timber tract
	NR
	DP

	(4)
	Warehouse 
	B
	DR

	(5)
	New engine for old machine
	E
	DR

	(6)
	Operating license
	I
	A

	(7)
	Production plant 
	B
	DR

	(8)
	Trademark
	I
	A

	(9)
	Silver mine
	NR
	DP

	(10)
	Land held for sale 
	O (investment)
	NO


M8–2.

Kramer’s fixed asset turnover ratio is


= 

Net sales

 

[(Beginning net fixed asset balance + Ending net fixed asset balance) ( 2]


= 

$3,300,000

=
1.57
 

[($1,900,000 + $2,300,000) ( 2]

Kramer’s ratio is over 1½ times as high as Southwest’s 2008 ratio of 1.01, indicating that Kramer may be much more efficient in its use of fixed assets.  

M8–3.

(1) C
(2) R
(3) N
(4) C
(5) N
(6) R
(7) R
(8) C
(9) C
M8–4.

Machinery (original cost)
 $31,000

Accumulated depreciation at end of third year


Depreciation expense = 


           ($31,000 cost – $1,000 residual value) x 1/5 = $6,000


Accumulated depreciation = $6,000 annual depreciation expense x 3 yrs =
 18,000
Net book value at the end of the third year
$13,000
M8–5.

Machinery (original cost)
$45,000

Accumulated depreciation at end of first year:

Depreciation expense = ($45,000 – $0 acc. depr.) x 2 / 4 = $22,500
  22,500
Net book value at end of first year
$22,500
Machinery (original cost)
$45,000

Accumulated depreciation at end of second year:

Depreciation expense = ($45,000 - $22,500 acc. depr.) x 2 / 4 = 
 $11,250

Accumulated depreciation = Year 1, $22,500 + Year 2, $11,250 = 

 33,750
Net book value at end of second year
$11,250
Machinery (original cost)
$45,000

Accumulated depreciation at end of third year:

Depreciation expense = ($45,000 - $33,750 acc. depr.) x 2 / 4
 =  $5,625

Accumulated depreciation = (Year 2, $33,750 + Year 3, $5,625) =

 39,375
Net book value at end of third year
$5,625
M8–6.

Machinery (original cost)
$21,000

Accumulated depreciation at end of third year


Depreciation expense per machine hour 



= ($21,000 cost – $1,000 residual value) = $0.50 per machine hour




40,000 machine hours



Accumulated depreciation                                            


= $0.50 depreciation expense per machine hr 
              x (3,200+7,050+7,500) hrs =
  8,875
Net book value at end of third year
$12,125
M8–7.

	
	Impairment
	Loss
	Cost - Fair Value

	a. Machine


	Y
	$6,000
	$15,500 -$ 9,500

	b. Copyright
	N
	   —
	Estimated cash flows exceed book value



	c. Factory building
	Y
	$31,000
	$58,000 - $27,000



	d. Building
	N
	— 
	Estimated cash flows equal book value


M8–8.

Store fixtures (original cost)
$6,000

Accumulated depreciation at end of tenth year


Depreciation expense =

 
      ($6,000 cost – $800 residual value) x 1/13 = $400


Accumulated depreciation = $400 annual depreciation expense x 10 yrs =
  4,000
Net book value at end of tenth year (i.e., NBV immediately prior to sale)
$2,000
Journal entry to record the disposal is as follows.


Cash (+A)

1,800


Accumulated depreciation, store fixtures ((XA, +A)

4,000


Loss on sale of store fixtures (+Loss, (SE) 

200


Store fixtures ((A) 


6,000

M8–9.

Elizabeth Pie Company’s management may choose to accept the offer of $5,000,000 as this amount is more than the $4,800,000 market value of separately identifiable assets and liabilities ($4,500,000 market value of recorded assets and liabilities and $300,000 for the patent).  If so, Giant Bakery would record $200,000 of goodwill on the date of purchase (i.e., the excess of the $5,000,000 purchase price over the $4,800,000 fair value of identifiable assets and liabilities).  The $110,000 difference in goodwill (Elizabeth’s $310,000 estimated value of goodwill less actual goodwill of $200,000) provides potential for Elizabeth’s management to negotiate a higher purchase price. 

M8–10.

	Wexler Company

Excerpts from Statement of Cash Flows

For the Year Ended December 31, 2012

	
	

	Cash flows from operating activities:
	

	Net income
	$ 13,000

	Add back:  Depreciation expense
	5,500

	Cash provided by (used in) operating activities
	18,500

	
	

	Cash flows from investing activities:
	

	Purchase of equipment
	(156,000)

	Sale of land
	18,000

	Cash provided by (used in) investing activities
	(138,000)


Exercises

E8–1.

	Hasbro, Inc. 

Excerpts from Balance Sheet

(in millions)

	ASSETS
	

	Current Assets
	

	Cash and cash equivalents
	$  630

	Accounts receivable (net of allowance for doubtful accounts, $32)
	612

	Inventories
	300

	Prepaid expenses and other current assets  
	     171

	Total current assets
	  1,713

	
	

	Property, Plant, and Equipment
	

	Machinery and equipment
	413

	Buildings and improvements
	196

	Land and improvements
	     7

	Property, plant, and equipment (at cost)
	616

	Less:  Accumulated depreciation
	   403

	Total property, plant, and equipment (net)
	   213

	
	

	Other Assets
	

	Goodwill 
	474

	Other intangibles (net of accumulated amortization, $800)
	568

	Other noncurrent assets
	     200

	Total other assets
	  1,242

	Total Assets
	$3,168


E8–2.

Req. 1

Fixed asset turnover ratio:  (in millions)

Sales ( [(beginning net fixed assets + ending net fixed assets) ( 2]

	2007
	2008
	2009

	$24,006 ( $1,556.5
	$32,479 ( $2,393.0
	$36,537 ( $2,704.5

	15.42
	13.57
	13.51


Computation of denominator:

	2007
	($1,281 + $1,832) ( 2
	=  $1,556.5

	2008
	($1,832 + $2,954) ( 2
	=  $2,393.0

	2009
	($2,954 + $2,455) ( 2
	=  $2,704.5


Req. 2

Apple’s fixed asset turnover ratio fell each year from 2007 to 2009.  This suggests that Apple’s management became less efficient at utilizing its long-lived assets over time.  The decrease in 2008 was due primarily to a large increase in fixed assets that year.  Although the turnover has declined, it is possible that the build-up of fixed assets may lead to increased sales in the future, thus increasing the fixed asset turnover ratio to prior levels.  An analyst can use this longitudinal analysis to observe possible trends over time.  In addition, the analyst may compare Apple’s ratios to those of competitors in the industry.
E8–3
Req. 1

	Building (+A)

	97,000
	
	

	Land (+A) 

	113,000
	
	

	       Cash ((A)

	
	
	210,000


	
	Building
	Land

	Cash paid
	$71,000
	$107,000

	+ renovations to prepare for use
	23,000
	

	+ share of transfer costs
	3,000
	6,000 

	
	$97,000
	$113,000

	
	
	


Req. 2

Straight-line depreciation computation:

($97,000 cost - $15,000 residual value) x 1/10 = $8,200 depreciation expense per year

Note:  Land is not depreciated.

Req. 3

Computation of the book value of the property at the end of year 2:

	Building
	$ 97,000
	

	   Less:  Accumulated depreciation ($8,200 x 2 years)
	 (16,400)
	$  80,600

	Land
	
	  113,000

	                                                             Net book value
	
	$193,600


E8–4.

Req. 1
	Date
	Assets
	Liabilities
	Stockholders’ Equity

	January 1
	No effect
	
	No effect
	
	No effect
	

	January 2
	Cash

Equipment
	–6,000

+21,000
	Short term note payable
	+15,000
	
	

	January 3
	Cash

Equipment
	–1,000
+1,000
	
	
	
	

	January 5
	Cash 

Equipment
	–2,500

+2,500
	
	
	
	

	July 1
	Cash
	–15,750
	Short term note payable
	–15,000
	Interest expense*
	–750




*  $15,000 principal x .10 interest rate x 6/12 of a year = $750 interest

Req. 2

Acquisition cost of the machine:


Cash paid



$  6,000


Note payable with supplier

  15,000


Freight costs



    1,000

Installation costs


    2,500

   Acquisition cost


$24,500
Req. 3
	Depreciation for 2012: ($24,500 cost - $4,000 residual value) x 1/10 
	$  2,050


Req. 4

On July 1, 2012, $750 ($15,000 x 10% x 6/12) is paid and is recorded as interest expense.  The amount is not capitalized (added to the cost of the asset) because interest is capitalized only on constructed assets.  This machine was purchased.

Req. 5 
	Equipment (cost)

	$24,500

	  Less:  Accumulated depreciation ($2,050 x 2 years)

	4,100

	Net book value at end of 2013

	$20,400


E8–5.

Req. 1 
	Adjusting entry for 2010:
	
	
	

	    Depreciation expense (+E, (SE)

	6,000
	
	

	       Accumulated depreciation, equipment (+XA, (A)

	
	
	6,000

	         ($100,000 – $10,000) x 1/15 = $6,000


Req. 2 ( beginning of 2011)
    Estimated life                                                                                              15 years

    Less:  Used life - 

                $54,000 accumulated depreciation ( $6,000 annual expense =      9 years
    Remaining life                                                                                               6 years                                 

	


Req. 3 (during 2011):
	    Repair and maintenance expense (+E, (SE)

	1,000
	
	

	       Cash ((A)

	
	
	1,000

	   (Ordinary repairs incurred.)

	
	
	
	

	    Equipment (+A)

	12,000
	
	

	       Cash ((A)

	
	
	12,000

	    Extraordinary repairs incurred and capitalized.


E8–6. 

	Date
	Assets
	Liabilities
	Stockholders’ Equity

	1.   2010*
	Accumulated depreciation
	–6,000
	
	
	Depreciation expense
	–6,000

	2a. 2011
	Cash
	–1,000
	
	
	Repair and maintenance expense
	–1,000

	2b. 2011
	Cash

Equipment
	–12,000

+12,000
	
	
	
	


* Adjusting entry for 2010:  
($100,000 cost – $10,000 residual value) x 1/15 = $6,000.
E8–7.

Req. 1

 a.  Straight-line:       

	Year
	Computation
	Depreciation Expense
	Accumulated Depreciation
	Net

Book Value

	At acquisition
	
	
	
	$10,000

	1
	($10,000 - $1,000) x 1/4
	$2,250
	$2,250
	    7,750

	2
	($10,000 - $1,000) x 1/4
	  2,250
	  4,500
	    5,500

	3
	($10,000 - $1,000) x 1/4
	  2,250
	  6,750
	    3,250

	4
	($10,000 - $1,000) x 1/4
	  2,250
	  9,000
	    1,000


 b.  Units-of-production: ($10,000 – $1,000) ( 9,000 = $1.00 per hour of output

	Year
	Computation
	Depreciation Expense
	Accumulated Depreciation
	Net

Book Value

	At acquisition
	
	
	
	$10,000

	1
	$1.00 x 3,600 hours
	$3,600
	$3,600
	    6,400

	2
	$1.00 x 2,700 hours
	  2,700
	  6,300
	    3,700

	3
	$1.00 x 1,800 hours
	  1,800
	  8,100
	    1,900

	4
	$1.00 x 900 hours
	     900
	  9,000
	    1,000


     c.  Double-declining-balance:

	Year
	Computation
	Depreciation Expense
	Accumulated Depreciation
	Net

Book Value

	At acquisition
	
	
	
	$10,000

	1
	($10,000 - $0) x 2/4
	$5,000
	$5,000
	    5,000

	2
	($10,000 - $5,000) x 2/4
	  2,500
	  7,500
	    2,500

	3
	($10,000 - $7,500) x 2/4
	  1,250   
	  8,750  
	    1,250

	4
	($10,000 - $8,750) x 2/4
	     625 
	  9,375
	       625


                                                                           250                 9,000                   1,000

Req. 2

If the machine is used evenly throughout its life and its efficiency (economic value in use) is expected to decline steadily each period over its life, then straight-line depreciation would be preferable. If the machine is used at a consistent rate but the efficiency is expected to decline faster in the earlier years of its useful life, then an accelerated method would be appropriate [such as, double-declining-balance]. If the machine is used at different rates over its useful life and its efficiency declines with output, then the units-of-production method would be preferable because it would result in a better matching of depreciation expense with revenue earned. 
E8–8.

Req. 1

 a.  Straight-line:       

	Year
	Computation
	Depreciation Expense
	Accumulated Depreciation
	Net

Book Value

	At acquisition
	
	
	
	$580,000

	1
	($580,000 - $60,000) x 1/5
	$104,000
	$104,000
	476,000

	2
	($580,000 - $60,000) x 1/5
	  104,000
	  208,000
	372,000

	3
	($580,000 - $60,000) x 1/5
	  104,000
	  312,000
	268,000

	4
	($580,000 - $60,000) x 1/5
	  104,000
	  416,000
	164,000

	5
	($580,000 - $60,000) x 1/5
	  104,000
	  520,000
	60,000


 b.  Units-of-production: ($580,000 – $60,000) ( 260,000 = $2.00 per unit of output

	Year
	Computation
	Depreciation Expense
	Accumulated Depreciation
	Net

Book Value

	At acquisition
	
	
	
	$580,000

	1
	$2.00 x 73,000 units
	$146,000
	$146,000
	434,000

	2
	$2.00 x 62,000 units
	  124,000
	  270,000
	310,000

	3
	$2.00 x 30,000 units
	    60,000 
	  330,000
	250,000

	4
	$2.00 x 53,000 units
	  106,000
	  436,000
	144,000

	5
	$2.00 x 42,000 units
	    84,000
	  520,000
	60,000


     c.  Double-declining-balance:

	Year
	Computation
	Depreciation Expense
	Accumulated Depreciation
	Net

Book Value

	At acquisition
	
	
	
	$580,000

	1
	($580,000 - 0) x 2/5
	$232,000
	$232,000
	  348,000

	2
	($580,000 - $232,000) x 2/5
	  139,200
	  371,200
	  208,800

	3
	($580,000 - $371,200) x 2/5
	     83,520
	  454,720
	     125,280

	4
	($580,000 - $454,720) x 2/5
	50,112
	504,832
	75,168

	5
	($580,000 - $504,832) x 2/5
	    30,067
	  534,899
	     45,101

	
	
	     15,168
	  520,000
	     60,000



E8–8. (continued)

Req. 2

If the machine is used evenly throughout its life and its efficiency (economic value in use) is expected to decline steadily each period over its life, then straight-line depreciation would be preferable. If the machine is used at a consistent rate but the efficiency is expected to decline faster in the earlier years of its useful life, then an accelerated method would be appropriate [such as, double-declining-balance]. If the machine is used at different rates over its useful life and its efficiency declines with output, then the units-of-production method would be preferable because it would result in a better matching of depreciation expense with revenue earned.

E8–9.

Management of General Motors Corporation probably anticipated that the pre-2001 property and equipment would be more productive or efficient in the earlier part of their lives than in the later.  Thus, the accelerated method would provide the best matching of expenses with revenues in the same period.  In 2001, however, General Motors’ management may have recognized a change in the revenue-generating capacity of the property and equipment such that a better matching would occur using the straight-line method in which equal amounts of depreciation expense would be computed each period. 

E8–10. 

Straight-line depreciation (SL) is a simple method to use and understand. Managers often prefer SL because it results in lower depreciation expense and higher net income in the earlier years of an asset’s life when compared with the accelerated methods. Because SL depreciation results in higher income in earlier years, it is not desirable to use it for tax reporting purposes with the objective of lowering tax liabilities.  By using SL depreciation instead of an accelerated method in the earlier years for tax purposes, a company would have to pay higher taxes. In any case, the tax code specifies that MACRS, an accelerated method, may be used for most tangible depreciable property placed in service after December 31, 1986.   It is important to note, however, that, over the entire useful life of an asset, total depreciation expense is the same regardless of the method. 

E8–11.

Req. 1

	
	Depreciation Expense
	
	Book Value at End of

	Method of Depreciation
	Year 1
	
	Year 2
	
	Year 1
	
	Year 2

	Straight-line

	$22,500
	
	$22,500
	
	$73,500
	
	$51,000

	Units-of-production

	32,250
	
	33,750
	
	63,750
	
	30,000

	Double-declining-balance

	48,000
	
	24,000
	
	48,000
	
	24,000


Computations:

Amount to be depreciated: $96,000 – $6,000 = $90,000:

Straight-line: 

$90,000 ( 4 years = $22,500 per year

Units-of-production:
$90,000 ( 120,000 units = $.75 per unit
	Year 1: 
	43,000 x $.75
	=
	$32,250

	Year 2: 
	45,000 x $.75
	=
	$33,750


Double-declining-balance (Rate: 2 x the straight line rate of 25% (2/4) = 50%):
	
	Year 1:
	
	 $96,000 x 50% = $48,000

	
	Year 2:
	
	($96,000 – $48,000) x 50% = $24,000


Req. 2

The double-declining-balance method would result in the lowest EPS for Year 1 because it produced the highest depreciation expense and therefore the lowest income (from Requirement 1). In Year 2, the units-of-production method would result in the lowest EPS because it produced the highest depreciation expense and therefore the lowest income in that year.

Req. 3

Depreciation is a noncash expense; that is, no cash is paid when depreciation is recognized.  Ignoring income tax implications, all methods have the same impact on cash flows in year 1.  Assuming a method is applied for tax determination, the straight-line method will result in the lowest expense, highest net income, highest tax liability, and therefore the highest amount of cash outflows in year 1.    Companies will select methods for tax purposes that reduce tax obligations.

Req. 4

The machine acquisition would decrease cash provided by investing activities by the purchase cost of $96,000.  As a noncash expense, the annual depreciation should have no overall effect on cash provided by operating activities—however, because it is originally subtracted to arrive at net income, an adjustment needs to be made to reverse this effect for cash flows.  Hence, $22,500 (the annual straight-line depreciation) must be added back to net income in the operating section of the statement of cash flows.
E8–12.

Req. 1

	Property, Plant, and Equipment

	Beg. Bal
	33,611
	  1,040
	Property sold

	Capital expenditures
	2,636
	109
	Write-offs

	End. Bal. 
	35,098
	
	


	Accumulated Depreciation

	Property sold
	  929
	15,948
	Beg. Bal.

	
	
	  1,814
	Depreciation expense

	
	
	16,833
	End. Bal.


Disposal of property and equipment:

	    Cash (+A) 

	147
	
	

	    Accumulated depreciation ((XA, +A)

	929
	
	

	       Property and equipment ((A)

	
	
	1,040

	          Gain on sale of property and equipment (+Gain, +SE)
	
	
	36


Req. 2

Amount of property and equipment written off as impaired during the year:
	Beginning balance
	$33,611

	+ Capital expenditures during year
	2,636

	 - Cost of property sold during year
	(1,040)

	 - Impairment loss during year
	   (?)

	Ending balance
	$35,098



Impairment loss = $109
E8–13.

Req. 1a

	
	Cash (+A)

	15,000
	
	

	
	Accumulated depreciation ((XA, +A)

	23,000
	
	

	
	 Delivery truck ((A)

	
	
	38,000

	
	Sale of an asset at book value; the result is no loss or gain.


Req. 1b

	
	Cash (+A)

	15,600
	
	

	
	Accumulated depreciation ((XA, +A)

	23,000
	
	

	
	 Gain on sale of long-lived asset (+Gain, +SE)

	
	
	600

	
	 Delivery truck ((A)

	
	
	38,000

	
	Sale of an asset above book value; the result is a gain.
	
	


Req. 1c

	
	Cash (+A)

	14,600
	
	

	
	Accumulated depreciation ((XA, +A)

	23,000
	
	

	
	Loss on sale of long-lived asset (+Loss, (SE)

	400
	
	

	
	 Delivery truck ((A)

	
	
	38,000

	
	Sale of an asset below book value; the result is a loss.
	
	


Req. 2   Summarization of the effects of the disposal:

1. The loss or gain on disposal of a long-lived asset is the difference between the disposal price and the book value at date of disposal.

2. When the disposal price is the same as the book value there is no loss or gain; when the price is above book value there is a gain; and when the price is below book value, there is a loss on disposal.

3.
The book value does not purport to be market value, so a loss or gain on disposal of a long-lived asset normally would occur.

E8–14. 

Req. 1a

	
	Cash (+A)

	500,000
	
	

	
	Accumulated depreciation ((XA, +A)

	5,500,000
	
	

	
	 Furniture ((A)

	
	
	6,000,000

	
	Sale of an asset at book value; the result is no loss or gain.


Req. 1b

	
	Cash (+A)

	1,600,000
	
	

	
	Accumulated depreciation ((XA, +A)

	5,500,000
	
	

	
	 Gain on sale of long-lived asset (+Gain, +SE)

	
	
	1,100,000

	
	 Furniture ((A)

	
	
	6,000,000

	
	Sale of an asset above book value; the result is a gain.
	
	


Req. 1c

	
	Cash (+A)

	400,000
	
	

	
	Accumulated depreciation ((XA, +A)

	5,500,000
	
	

	
	Loss on sale of long-lived asset (+Loss, (SE)

	100,000
	
	

	
	 Furniture ((A)

	
	
	6,000,000

	
	Sale of an asset below book value; the result is a loss.
	
	


Req. 2   Summarization of the effects of the disposal:

1. The loss or gain on disposal of a long-lived asset is the difference between the disposal price and the book value at date of disposal.

2. When the disposal price is the same as the book value there is no loss or gain; when the price is above book value there is a gain; and when the price is below book value, there is a loss on disposal.

3.
The book value does not purport to be market value, so a loss or gain on disposal of a long-lived asset normally would occur.

E8–15. 

Req. 1

Depreciation expense per year: 


$6,000 accumulated depreciation ( 3 years of usage = $2,000 per year  

Estimated useful life:  

 ($18,000 – $8,000) x 1/? useful life = $2,000 per year

  $10,000 / $2,000 = 5 year useful life
Req. 2

 December 31, 2012:

	
	Depreciation expense (+E, (SE)

	2,000
	
	

	
	 Accumulated depreciation (+XA, (A)

	
	
	2,000

	
	To bring accumulated depreciation up to the date of the accidental loss ($18,000 – $8,000) x 1/5 = $2,000.

	
	
	
	
	

	
	Accumulated depreciation ($6,000 + $2,000) ((XA, +A )
	8,000
	
	

	
	Loss on disposal of truck (+Loss, (SE)

	10,000
	
	

	
	 Truck ((A)

	
	
	18,000

	
	To record disposal of wrecked truck.


E8–16.

Req. 1

Computation of acquisition cost of the deposit in 2012:
February 2012:

Purchase of mineral deposit

$ 700,000

March 2012:

Preparation costs



     74,000





Total acquisition cost in 2012
$ 774,000

Req. 2

Computation of depletion for 2012:

$774,000 cost ( 900,000 cubic yards = $.86 per cubic yard depletion rate
60,000 cubic yards in 2012 x $.86 = $51,600

Req. 3

Computation of net book value of the deposit after the developmental work:


Total acquisition cost in 2012





$ 774,000

        Less:  2012 depletion






    (51,600)


January 2013 developmental costs

           

       6,000






Net book value


$ 728,400
E8–17.

Req. 1 

   Acquisition cost:

Technology


$70,000

Patent



    6,000

Trademark


  13,000

Req. 2 

   Amortization on December 31, 2012 (straight-line method with no residual value):


Technology:  $70,000 x 1/4 = $17,500 amortization expense
Patent:          $6,000 x 1/15 remaining = $400 amortization expense 

Trademark:   The trademark is not amortized due to its indefinite life.

Req. 3

   Income statement for 2012:

	
	Operating expenses:
	

	                Amortization expense ($17,500 + $400) 

	
	
	$17,900

	
	
	
	

	   Balance sheet at December 31, 2012:
	
	
	

	   (under noncurrent assets)
	
	
	

	   Intangibles:
	
	
	

	      Technology ($70,000 - $35,000*)

	 $35,000
	
	

	      Patent ($6,000 - $800)

	 5,200
	
	

	      Trademark 

	13,000
	**
	$53,200

	                    
	
	
	


  * $17,500 amortization expense x 2 years
 ** Although trademarks are valuable assets, they are rarely seen on balance sheets.
E8–18.

Req. 1 

   Acquisition cost:

Copyright


$12,300

Goodwill


  65,000

Patent



  39,200

Req. 2 

   Amortization on December 31, 2011 (straight-line method with no residual value):

       Copyright:  $12,300 x 1/10 = $1,230 amortization expense 

       Goodwill:  The goodwill is not amortized due to its indefinite life.

       Patent:  $39,200 x 1/16 remaining at time of purchase = $2,450 amortization exp.
Req. 3

   Income statement for 2011:

	
	Operating expenses:
	

	                Amortization expense ($1,230 + $2,450) 

	
	
	$3,680

	
	
	
	

	   Balance sheet at December 31, 2011:
	
	
	

	   (under noncurrent assets)
	
	
	

	   Intangibles:
	
	
	

	      Copyright ($12,300 - $1,230)

	$11,070
	
	

	      Goodwill 

	65,000
	
	

	      Patent ($39,200 - $4,900*)

	 34,300
	
	$110,370

	                    
	
	
	


                 * $2,450 amortization expense x 2 years
E8–19.

Req. 1 (January 1, 2012):

	
	Leasehold improvements (+A)

	375,000
	
	

	
	 Cash ((A)

	
	
	375,000


Req. 2 (Adjusting entry on December 31, 2012):

	
	Amortization expense* (+E, (SE)

	37,500
	
	

	
	 Leasehold improvements ((A)

	
	
	37,500

	
	   ($375,000 x 1/10 year lease = $37,500)


* Some accountants prefer to label this Rent Expense or Depreciation of Leasehold Improvements. The cost of the improvement should be allocated over the shorter of the life of the improvement or the lease term.

E8–20.
	Item
	Location

	1. Depreciation expense.
	(a) 
Income statement, or
(b) 
Statement of cash flows, or
(c)
Notes to the financial statements

	2. The detail on major classifications of long-lived assets.
	(a) 
Balance sheet, or
(b) 
Notes to the financial statements

	3. Prior year’s accumulated depreciation.
	(a) 
Balance sheet, or
(b) 
Notes to the financial statements

	4. The accounting method(s) used for financial reporting purposes.
	Notes to the financial statements

	5. Net amount of property, plant, and equipment.
	(a) 
Balance sheet, or
(b) 
Notes to the financial statements

	6. Whether the company has had any capital expenditures for the year.
	(a) 
Statement of cash flows 

(b) 
Increase in assets on the balance sheet

(c)       Notes to the financial statements

	7. Policies on amortizing intangibles.
	Notes to the financial statements

	8. Any significant gains or losses on disposals of fixed assets.
	(a) 
Income statement, or
(b) 
Statement of cash flows, or
(c)       Note to the financial statements

	9. The amount of assets written off as impaired during the year.
	(a) 
Income statement, or
(b) 
Statement of cash flows, or
(c) 
Notes to the financial statements


E8–21. 

December 31, 2011:

	Adjusting entry for 2011 depreciation:
	
	
	

	    Depreciation expense (+E, (SE)
……………….
	
	
	8,000
	
	

	       Accumulated depreciation, equipment (+XA, (A)
	
	
	
	
	8,000


Computation:


($58,000 net book value - $10,000 residual value) x 1/6 = $8,000

Net book value computation:

  $100,000   original cost 

     (54,000)  accumulated depreciation through 2010

      12,000   capitalized overhaul on January 2, 2011
  $  58,000   net book value on January 2, 2011
           





Remaining life computation:





 




      15 years estimated life

($54,000 accumulated depreciation ( $6,000 expense)   –   9 years used 









         6 years remaining  
($100,000 original cost - $10,000 residual value) x 1/15 = $6,000 per year through 2010
E8–22.

Req. 1

	     Equipment (+A)

	15,500
	
	

	        Cash ((A)

	
	
	15,500


Req. 2

Age of Machine A at December 31, 2012:
 ($30,000 cost – $4,500 residual value) x 1/5 years = $5,100 depreciation per year.
 $10,200 accumulated depreciation ( $5,100 = 2 years old at December 31, 2012.

Req. 3

	     Depreciation expense (for 2013) (+E, (SE)

	4,800
	
	

	        Accumulated depreciation, machinery (+XA, (A)

	
	
	4,800


Computations:

	 Cost when acquired

	$30,000

	 Less:  Accumulated depreciation (2 years)

	10,200

	 Undepreciated balance

	19,800

	 Add: Major renovation cost

	15,500

	  Total

	$35,300


Annual depreciation: 

($35,300 net book value - $6,500 new residual value) x 1/6 years of remaining useful life (8 years total useful life – 2 years used) = $4,800
Req. 4

Requirement (1) assumed that the major renovation and improvement cost was a capital expenditure rather than a revenue expenditure. Because capital expenditures benefit future periods, the expenditure is added to the net book value of the asset and then is depreciated over the remaining life of the asset.

Requirement (3) recognized an accounting change due to a change in estimate (both estimated life and residual value). A change in estimate is not an error correction; consequently it is treated prospectively. That is, the effect is spread over the current year and the future remaining life of the asset. This approach means that the undepreciated balance at the date of the change in estimate is depreciated over the remaining life using the revised estimates.
E8–23.

Req. 1

Depreciation expense prior to the change in estimates:

($330,000 cost – $30,000 residual value) x 1/50 = $6,000 annual depreciation

Req. 2

Depreciation expense after the change in estimates:

Step 1 – Age of the asset:  $78,000 accumulated depreciation ( $6,000 annual expense = 13 years of depreciation to date.



   The building has been depreciated over 13 years as of the beginning of the 



   year.

Step 2 – Net book value:  $330,000 cost ( $78,000 accum. deprec. = $252,000

Step 3 – Computation:


      (Net book value ( new residual value) x 1/remaining life = Deprec. expense


      ($252,000 ( $22,500) x 1/17 = $13,500 depreciation expense per year

This was an accounting change due to a change in estimate (both remaining useful life and residual value). A change in estimate is not an error correction; the remaining book value is depreciated over the remaining useful life using the revised estimates. 

Req. 3

The depreciation expense increases by $7,500 each year for the next 17 years.  Therefore, net income will be lower by $7,500 (ignoring taxes) each year; this in turn will lower Retained Earnings on the balance sheet.  Also on the balance sheet, the asset’s net book value will be lowered by an additional $7,500 each year for 17 years.  However, since depreciation is a noncash expense, there are no cash flow implications (again ignoring income tax considerations).
PROBLEMS

P8–1.

Req. 1

Long-lived assets are tangible and intangible resources owned by a business and used in its operations over several years.  Tangible assets  (such as property, plant, and equipment or natural resources) are assets that have physical substance.   Intangible assets  (such as goodwill or patents) are assets that have special rights but not physical substance.

Req. 2

January 2 purchase:
	     Equipment (1) (+A)

	86,410
	
	

	        Accounts payable(2) (+L)

	
	
	32,010

	           Note payable (+L)

	
	
	45,000

	           Common stock(3) (+SE)

	
	
	2,000

	           Additional paid-in capital(4) (+SE) 

	
	
	5,000

	        Cash ((A)

	
	
	2,400


January 15 payment:

	     Accounts payable ((L)

	32,010
	
	

	   Financing expense (+E, (SE) 

	990
	
	

	           Cash ((A)

	
	
	33,000


Computations:

(1)
Equipment:  
$85,000 invoice – $990 (3% of $33,000 cash to be paid*) 



+ $2,400 installation




* Assets are recorded at the cash equivalent price

(2)
Balance payable:  
$85,000 invoice – $45,000 note payable 
 
– $7,000 common stock and additional paid-in capital – 



$990 (3% of $33,000 cash to be paid)

(3)
Common stock:  
$1 par value x 2,000 shares

(4)
Additional paid-in capital:  
($3.50 market value - $1 par value) x 2,000 shares

P8–1. (continued)

Req. 3
	Date
	Assets
	Liabilities
	Stockholders’ Equity

	Jan 2
	Equipment

Cash
	+86,410

-2,400
	Note payable

Accounts payable
	+45,000

+32,010
	Common stock

Additional paid-in capital
	+2,000

+5,000

	Jan 15
	Cash
	-33,000
	Accounts payable
	-32,010
	Financing expense
	-990


Req. 4
Cost of the machinery includes installation costs.  Freight was excluded because it was an expense paid by the vendor.  No discount was taken because Cruz Company paid the cash balance due after the discount period ended.   The lost discount is treated as a financing expense.  Common stock is valued at $3.50 per share—for accounting purposes, this amount is allocated between the Common Stock account for the par value ($1 per share) and the Additional Paid-In Capital account for the remaining value ($2.50 per share in excess of par value).
P8–2.

Req. 1
	
	Building
	
	Accum. Deprec.
	
	Deprec. Expense
	
	Repairs Expense
	
	Cash

	Balance 1/1/11
	$820,000
	
	$410,000
	
	
	
	
	
	

	Depreciation 

   for 2011
	
	
	41,000
	
	 $41,000*
	
	
	
	NE

	Balance prior to 

   expenditures
	820,000
	
	451,000
	
	41,000 
	
	
	
	

	a.
	  NE
	
	NE
	
	NE
	
	+$7,000
	
	($7,000

	b.
	+122,000
	
	NE
	
	NE
	
	NE
	
	(122,000

	c.
	+230,000
	
	NE
	
	NE
	
	NE
	
	(230,000

	Balance 12/31/11
	$1,172,000
	
	$451,000
	
	$41,000
	
	  $7,000
	
	


 *   ($820,000 cost - $0) x 1/20 years = $41,000 depreciation expense per year.

Req. 2

Book Value of Building on December 31, 2011:

	Building ($820,000 + $122,000 + $230,000) 

	$1,172,000
	
	

	Less: Accumulated depreciation ($410,000 + $41,000) 

	451,000
	
	

	  Net book (or carrying) value 

	
	
	$721,000


Req. 3

Depreciation is a noncash expense.  Unlike most expenses, no cash payment is made when the expense is recognized.  The cash outflow occurred when the related asset was acquired.  For companies selecting the indirect method of preparing a statement of cash flows (reconciling net income on the accrual basis to cash from operations), depreciation expense is added back to net income because the expense reduces net income, yet is not a cash outlay. 

P8–3.
Req. 1

Cost of each machine:

	
	Machine
	
	

	
	A
	
	B
	
	C
	
	Total

	Purchase price

	$11,000
	
	$30,000
	
	$8,000
	
	$49,000

	Installation costs

	500
	
	1,000
	
	500
	
	2,000

	Renovation costs

	2,500
	
	1,000
	
	1,500
	
	5,000

	 Total cost

	$14,000
	
	$32,000
	
	$10,000
	
	$56,000


Req. 2

Computation of depreciation at the end of year 1 for each machine:

	Machine
	Method
	Computation

	A
	Straight-line
	($14,000 ( $1,000) x 1/5 = $2,600

	B
	Units-of-production
	($32,000 ( $2,000) ( 60,000 hours = $0.50 

$0.50 x 4,800 hours = $2,400

	C
	Double-declining-balance
	($10,000 ($0) x 2/4 = $5,000


Adjusting entry:

	Depreciation expense ($2,600 + $2,400 + $5,000) (+E, (SE)
	10,000
	
	

	           Accumulated depreciation, Machine A (+XA, (A)
	
	
	2,600

	           Accumulated depreciation, Machine B (+XA, (A)
	
	
	2,400

	           Accumulated depreciation, Machine C (+XA, (A)
	
	
	5,000


P8–4.

Req. 1

Depreciation expense of $464 recorded in the current year is inferred from the activities affecting the Accumulated Depreciation account:



  


     Accumulated Depreciation

	
	2,302         Beg. bal.

	Asset sales             0
	   464  Deprec. Exp.

	
	2,766         End. bal.


Req. 2

Recording depreciation at the end of the period increases expenses (and thus decreases net income and stockholders’ equity) and decreases the net book value of the property and equipment accounts.  Failing to record depreciation creates the opposite effects.

	Ratio
	Computation
	Effect on Ratio of Failing to Record Depreciation Expense

	Earnings per share
	            Net income


  Number of shares of stock outstanding
	Net income will be overstated with no change in the denominator ( Overstated

	Fixed asset turnover
	                       Sales


  

Average net fixed asset balance
	Numerator does not change; however, the denominator is overstated ( Understated

	Current    ratio
	 Current assets 
Current liabilities
	Neither the numerator nor the denominator are affected by depreciation expense, since accumulated depreciation affects only long-lived assets on the balance sheet ( No effect

	Return on assets
	       Net income

Average total assets
	Net income is overstated and so is average total assets although at a lower amount due to averaging ( Overstated


P8–5.

Req. 1

 a.  Straight-line:       

	Year
	Computation
	Depreciation Expense
	Accumulated Depreciation
	Net

Book Value

	At acquisition
	
	
	
	$106,000

	1
	($106,000 - $2,000) x 1/13
	$8,000
	  $ 8,000
	    98,000

	2
	($106,000 - $2,000) x 1/13
	$8,000
	   16,000
	    90,000


 b.  Units-of-production: ($106,000 – $2,000) ( 200,000 = $0.52 per unit of output

	Year
	Computation
	Depreciation Expense
	Accumulated Depreciation
	Net

Book Value

	At acquisition
	
	
	
	$106,000

	1
	  $0.52 x 20,000 units
	$10,400
	  $10,400
	    95,600

	2
	  $0.52 x 16,000 units
	    8,320
	    18,720
	    87,280


     c.  Double-declining-balance:

	Year
	Computation
	Depreciation Expense*
	Accumulated Depreciation
	Net

Book Value

	At acquisition
	
	
	
	$106,000

	1
	($106,000 - $0) x 2/13
	$16,308
	$16,308
	    89,692

	2
	($106,000 - $16,308) x 2/13
	  13,799
	  30,107
	    75,893


                                                                      *Rounded to the nearest dollar.
Req. 2

Cash flow—For tax purposes, the declining-balance (DB) method usually is viewed as preferable because an early tax deduction is preferable to a later tax deduction. DB depreciation expense is highest; therefore, it yields lower taxable income and therefore lower income tax payable (and lower cash outflow) in the early years. In later years, this effect would reverse.  Other than cash outflows for taxes, cash flows are unaffected by the method chosen by management for financial reporting purposes.  Companies may select different methods for tax and financial reporting.

Fixed asset turnover—The DB method would be most favorable for fixed asset turnover. Because this depreciation method yields the highest amount of depreciation expense, it yields the lowest level of net fixed assets and thus the highest fixed asset turnover during the early years.  In later years, this effect would reverse.

EPS—In terms of EPS, straight-line (SL) depreciation would be favorable. This depreciation method yields the lowest amount of depreciation expense, the highest net income, and therefore the highest EPS during the early years when compared with the accelerated methods. In later years, this comparative effect would reverse.

P8–5. (continued)

Recommendation to Ford Motor Company’s management—Companies may choose a different method for tax purposes than for financial reporting purposes.  The goal of reducing taxes in year 1 is best accomplished by using the double-declining-balance method.   The ease of use of the straight-line depreciation method for financial reporting would result in the highest EPS for year 1 (assuming no other method better reflects matching expenses with revenues).  As time goes on (in years 2 and later), the relative advantages of one method over another will reverse.  However, accounting methods should be used consistently over time.  Changing methods in the future would require reasonable justification.
P8–6.

Req. 1

a.  Machine A -  Sold on Jan. 1, 2012:
	(1)
	Depreciation expense in 2012 - none recorded because disposal date was Jan. 1, 2012.
	
	
	

	(2)
	To record disposal:
	
	
	

	
	 Cash (+A)

	7,200
	
	

	
	 Accumulated depreciation, Machine A ((XA, +A)

	13,500
	
	

	
	 Loss on disposal of machine (+Loss, (SE)

	300
	
	

	
	     Equipment (Machine A) ((A)

	
	
	21,000


b.  Machine B – Sold on December 31, 2012:

	(1)
	To record depreciation expense for 2012:
	
	
	

	
	 Depreciation expense (+E, (SE)

	3,700
	
	

	
	     Accumulated depreciation, Machine B (+XA, (A)

	
	
	3,700

	
	 ($41,000 – $4,000) ( 10 years = $3,700.
	
	
	

	(2)
	To record disposal:
	
	
	

	
	 Cash (+A)

	2,500
	
	

	
	 Note receivable (+A)

	6,000
	
	

	
	 Accumulated depreciation, Machine B ($29,600 + $3,700) 

   ((XA, +A) 

	33,300
	
	

	
	        Gain on disposal of machine (+Gain, +SE)

	
	
	800

	
	     Equipment (Machine B) ((A)

	
	
	41,000


c.  Machine C – Disposal on January 1, 2012:
	(1)
	Depreciation expense in 2012 - none recorded because disposal date was Jan. 1, 2012.
	
	
	

	(2)
	To record disposal:
	
	
	

	
	 Accumulated depreciation, Machine C ((XA, +A) 

	56,000
	
	

	
	    Loss on disposal of machine (+Loss, (SE)

	19,000
	
	

	
	        Equipment (Machine C) ((A)

	
	
	75,000


Req. 2

Machine A:  Disposal of a long-lived asset with the price below net book value results in a loss.
Machine B:  Disposal of a long-lived asset with the price above net book value results in a gain.

Machine C:  Disposal of a long-lived asset due to damage results in a loss equal to remaining book value.
P8–7.

Req. 1

	Fixed Assets

	Beg. balance
	24,839.2
	
	

	Acquisitions
	4,418.0
	4,129.3
	Disposals/transfers

	End. balance
	25,127.9
	
	


	Accumulated Depreciation

	
	
	8,365.1
	Beg. balance

	Disposals/transfers
	1,083.3
	1,812.3
	Depreciation expense

	
	
	     41.4
	Impairment loss

	
	
	9,135.5
	End. balance


Req. 2

	Net book value of the disposals and transfers: 
             $4,129.3 cost ( $1,083.3 accumulated depreciation        
	$3,046.0

	Add:  Surplus on sale of fixed assets (on statement of cash flows) 
	       62.7

	Cash proceeds from disposals and transfers
	$3,108.7


Req. 3

Percentage depreciation expense to cash flows from operations 
= ($1,812.3 / $1,445.4) x 100% = 125.4%

Depreciation expense is 1.25 times greater than cash generated from operations.  This suggests that the result of adding back the noncash expense (depreciation) contributed significantly to the positive operating cash flows.  This indicates the high level of capital assets needed for the airline’s operations.

 P8–8.

Req. 1

	
	Date
	Assets
	Liabilities
	Stockholders’ Equity

	a.
	Jan. 1
	Patent

Cash
	+28,000

–28,000
	
	
	
	

	b.
	Jan. 1
	Assets (not detailed)

Goodwill 

Cash
	+154,000

+10,000

–164,000
	
	
	
	

	c.
	Dec. 31
	Leasehold improvements

Cash
	+15,600

–15,600
	
	
	
	

	d.
	2011
	Cash
	– 5,500
	
	
	Repair and maintenance expense
	-5,500

	e.
	Dec. 31
	Accumulated depreciation, machine A(1)
	– 4,000
	
	
	Depreciation expense
	–4,000

	
	
	Cash

Machine A

Accumulated depreciation, Machine A(2)
	+6,000

–25,000

+20,000
	
	
	Gain on disposal of long-lived asset(3)
	+1,000

	f.
	Dec. 31
	Cash

Machine B
	–5,000

+5,000
	
	
	
	


	
	(1)
	 ($25,000 - $5,000) x 1/5 = 4,000
	
	
	

	
	
	
	
	
	

	
	(2)
	 Accumulated depreciation to Jan. 1, 2011

	$16,000
	
	

	
	
	 Add: Depreciation expense for 2011

	4,000
	
	

	
	
	  Total accumulated depreciation 

	$20,000
	
	

	
	
	
	
	
	

	
	(3)
	    Cash proceeds of disposition

	$6,000
	
	

	
	
	    Net book value of Machine A ($25,000 – $20,000)

	5,000
	
	

	
	
	     Gain on disposal of long-lived asset

	$1,000
	
	


Req. 2  December 31, 2011 depreciation and amortization:

	
	
	

	a.
	Patent: $28,000 ( 7 years = $4,000 amortization expense.

	
	

	b.
	Goodwill:  No amortization due to indefinite life.

	
	

	c.
	Leasehold improvements:  No amortization since constructed on December 31.

	
	

	d.
	This transactions involved a revenue expenditure and not an intangible or capitalized asset.

	
	

	e.
	Machine A:  Machine A was sold on December 31, 2011.  Depreciation expense

	
	was recorded prior to the sale.  No additional depreciation is necessary.

	
	

	f.
	Machine B:  ($31,000 - $7,000) x 1/15 = $1,600 depreciation expense.


P8–9.

Req. 1

January 5, 2010:

	Cash purchase price

	
	
	$500,000

	Less market value of identifiable assets:
	
	
	

	           Accounts receivable…………………………………….
	$  41,000
	
	

	           Inventory………………………………………………….
	200,000
	
	

	           Fixed assets 

	50,000
	
	

	           Other assets 

	10,000
	
	301,000

	Difference (Goodwill)

	
	
	  $199,000


Req. 2

December 31, 2010:

	a.
	Depreciation expense on fixed assets acquired:   ($50,000 - $0) x 1/10 years = $5,000.

	                     
	     Depreciation expense (+E, -SE) . . . . . . . . . . . .     5,000

               Accumulated depreciation (+XA, -A) . . . .                    5,000

	b.
	Goodwill has an indefinite life and is not amortized.


P8–10.

Req. 1   

	a.
	Patent amortization for one year, $55,900 ( 13 years = $4,300.

	
	

	b.
	Copyright amortization for one year, $22,500 ( 10 years = $2,250.

	
	
	
	

	c.
	Franchise amortization for one year, $14,400 ( 10 years = $1,440.

	
	
	
	

	d.
	License amortization for one year, $14,000 ( 5 years = $2,800.

	
	
	
	

	e.
	Goodwill has an indefinite life and is not amortized.


Req. 2

Net Book Value on December 31, 2012:

	
	
 Item
	
Date Acquired
	Book Value Computations
	
	Book Value
Dec. 31, 2012

	a.
	Patent

	Jan. 1, 2011
	
	$55,900 – ($4,300 x 2)
	
	
	 $  47,300
	

	b.
	Copyright

	Jan. 1, 2011
	
	$22,500 – ($2,250 x 2)
	
	
	  18,000
	

	c.
	Franchise

	Jan. 1, 2011
	
	$14,400 – ($1,440 x 2)
	
	
	  11,520
	

	d.
	License

	Jan. 1, 2010
	
	$14,000 – ($2,800 x 3)
	
	
	    5,600
	

	e.
	Goodwill

	Jan. 1, 2008
	
	$40,000 (not amortized)
	
	
	  40,000
	

	
	Total book value

	
	
	
	
	
	$122,420
	


Req. 3

The book value of the copyright on January 1, 2013 ($18,000) exceeds the expected future cash flows ($17,000).  Therefore, the asset is impaired.

	      Book value of copyright

	$18,000 

	      Fair value of copyright

	16,000 

	      Impairment loss to be recorded, January 2, 2013

	$  2,000 


P8–11.

Req. 1

	(a)  Cost of press

	$400,000 

	      Residual value

	50,000 

	      Amount to depreciate over 20 years

	$350,000 

	      Annual depreciation expense recorded in 2010 ($350,000 ( 20 years)

	$17,500 

	(b)  Cost of press

	$400,000 

	      Less: Accumulated depreciation for 6 years ($17,500 x 6 years)

	105,000 

	      Net book (carrying) value at end of 2010

	$295,000 


Req. 2

	Cost of press

	$400,000 

	Accumulated depreciation at end of 2010 (from Req. 1)

	105,000 

	 Net book value (undepreciated amount at the beginning of 2011)

	295,000 

	Less: Revised residual value

	73,000 

	Remaining balance to depreciate

	$222,000 

	Annual depreciation for 2011 [$222,000 ( (25 years – 6 years = 19 years)]
*
	$11,684 


   *Rounded to the nearest dollar                                                                                         

 Remaining life

Req. 3

December 31, 2011—Adjusting entry:

	Depreciation expense (+E, (SE)

	11,684
	
	

	 Accumulated depreciation (+XA, (A)

	
	
	11,684




ALTERNATE PROBLEMS

AP8–1. 

Req. 1

Long-lived assets are tangible and intangible resources owned by a business and used in its operations over several years.  Tangible assets  (such as property, plant, and equipment or natural resources) are assets that have physical substance.   Intangible assets  (such as goodwill or patents) are assets that have special rights but not physical substance.

Req. 2

On June 1, 2012:

	
	Equipment (+A) 
(1)
	(1)
	61,500
	
	

	
	 Cash ((A) 

	
	
	
	1,500

	
	 Common stock (+SE)

	(2)
	
	
	4,000

	
	 Additional paid-in capital (+SE)

	(3)
	
	
	8,000

	
	 Note payable (+L) 

	(4)
	
	
	48,000


On September 2, 2012:

	
	Note payable ((L) 

	
	48,000
	
	

	
	Interest expense (+E, (SE) 

	(5)
	1,440
	
	

	
	 Cash ((A)

	
	
	
	49,440



Computations:

(1)
Equipment:  
$60,000 invoice + $1,500 installation

(2)
Common stock:  
$2 par value x 2,000 shares

(3)
Additional paid-in capital:  
($6 market value - $2 par value) x 2,000 shares

(4)
Balance payable:  
$60,000 invoice – $12,000 common stock and additional 
 
paid-in capital

(5)
Interest expense:  
$48,000 x 12% x 3/12

AP8–1. (continued)

Req. 3

	Date
	Assets
	Liabilities
	Stockholders’ Equity

	June 1
	Equipment

Cash
	+61,500

-1,500
	Note payable
	+48,000


	Common stock

Additional paid-in capital
	+4,000

+8,000

	Sept 2
	Cash
	-49,440
	Note payable
	-48,000
	Interest expense
	-1,440


Req. 4
Cost of the machinery includes installation costs.  Freight should not be included because it was paid by the vendor.  The $1,440 interest is not a part of the cost of the machinery—it must be recorded as interest expense because it is a cost of financing.   Common stock is valued at $6 per share—for accounting purposes, this amount is allocated between the common stock account for the par value ($2 per share) and the additional paid-in capital account for the remaining value ($4 per share in excess of par value).

AP8–2.

Req. 1

	
	Building
	
	Accum. Deprec.
	
	Deprec. Expense
	
	Repairs Expense
	
	Cash

	Balance 1/1/2013
	$330,000
	
	$82,500
	
	
	
	
	
	

	Depreciation 

   for 2013
	
	
	16,500
	
	(1)$16,500
	
	
	
	NE

	Balance prior to 

   expenditures
	330,000
	
	99,000
	
	16,500
	
	
	
	

	a.
	NE
	
	   NE
	
	   NE
	
	+$5,000
	
	($5,000

	b.
	+ 17,000
	
	   NE
	
	   NE
	
	  NE
	
	(17,000

	c.
	+ 70,000
	
	   NE
	
	   NE
	
	  NE
	
	(70,000

	Balance 12/31/2013
	$417,000
	
	$99,000
	
	$16,500
	
	$5,000
	
	


(1)   $330,000 cost ( 20 years = $16,500 per year

Req. 2

Book Value of Building on Dec. 31, 2013:

	Building ($330,000 + $17,000 + $70,000)

	$417,000
	
	

	Less: Accumulated depreciation ($82,500 + $16,500)

	99,000
	
	

	 Net book (carrying) value

	
	
	$318,000


Req. 3

Depreciation is a noncash expense.  Unlike most expenses, no cash payment is made when the expense is recognized.  The cash outflow occurred when the related asset was acquired.  For companies selecting the indirect method of preparing a statement of cash flows (reconciling net income on the accrual basis to cash from operations), depreciation expense is added back to net income because the expense reduces net income, yet is not a cash outlay. 

AP8–3.

Req. 1

Cost of each machine:

	
	Machine
	
	

	
	A
	
	B
	
	C
	
	Total

	Purchase price

	$12,200
	
	$32,500
	
	$21,700
	
	$66,400

	Installation costs

	800
	
	1,100
	
	1,100
	
	3,000

	Renovation costs

	600
	
	1,400
	
	1,600
	
	3,600

	 Total cost

	$13,600
	
	$35,000
	
	$24,400
	
	$73,000


Req. 2

Computation of year 1 depreciation expense for each machine:

	Machine
	Method
	Computation

	A
	Straight-line
	($13,600 ( $1,000) x 1/8 = $1,575

	B
	Units-of-production
	($35,000 ( $2,000) ( 33,000 hours = $1.00 

$1.00 x 7,000 hours = $7,000

	C
	Double-declining-balance
	($24,400 ( $0) x 2/5 = $9,760


	Depreciation expense ($1,575 + $7,000 + $9,760) (+E, (SE)….
	18,335
	
	

	           Accumulated depreciation, Machine A (+XA, (A)………
	
	
	1,575

	           Accumulated depreciation, Machine B (+XA, (A)………
	
	
	7,000

	           Accumulated depreciation, Machine C (+XA, (A)………
	
	
	9,760


AP8–4.

Req. 1

Depreciation expense of $643 million recorded in the current year is inferred from the activities affecting the Accumulated Depreciation account:



  

       Accumulated Depreciation (in millions)
	Impairments             0
	4,053         Beg. bal.

	Asset sales           384
	   643  Deprec. Exp.

	
	4,312         End. bal.


Req. 2

Recording depreciation at the end of the period increases expenses (and thus decreases net income and stockholders’ equity) and decreases the net book value of the property and equipment accounts.  Failing to record depreciation creates the opposite effects.

	Ratio
	Computation
	Effect on Ratio of Failing to Record Depreciation Expense

	Earnings per share
	            Net income


  Number of shares of stock outstanding
	Net income will be overstated with no change in the denominator ( Overstated

	Fixed asset turnover
	                       Sales


  

Average net fixed asset balance
	Numerator does not change; however, the denominator is overstated ( Understated

	Current   ratio 
	 Current assets 
Current liabilities
	Neither the numerator nor the denominator are affected by depreciation expense, since accumulated depreciation affects only long-lived assets on the balance sheet ( No effect

	Return on assets
	            Net income       


Average total assets
	Net income is overstated and so is average total assets, although at a lower amount due to averaging ( Overstated


AP8–5.

Req. 1

a.  Machine A – Sold on Jan. 1, 2011:

	(1)
	Depreciation expense in 2011 - none recorded because disposal date was Jan. 1, 2011.
	
	
	

	(2)
	To record disposal:
	
	
	

	
	 Cash (+A)

	6,750
	
	

	
	 Accumulated depreciation, Machine A ((XA, +A)

	17,600
	
	

	
	        Gain on disposal of machine (+Gain, +SE)

	
	
	350

	
	     Machine A ((A)

	
	
	24,000


b.  Machine B – Sold on December 31, 2011:

	(1)
	To record depreciation expense for 2011:
	
	
	

	
	 Depreciation expense (+E, (SE)

	1,150
	
	

	
	     Accumulated depreciation, Machine B (+XA, (A)

	
	
	1,150

	
	 ($16,500 – $5,000) x 1/10 years = $1,150.
	
	
	

	(2)
	To record disposal:
	
	
	

	
	 Cash (+A)

	2,000
	
	

	
	 Note receivable (+A)

	5,000
	
	

	
	 Accumulated depreciation, Machine B ($8,050 + $1,150) 

   ((XA, +A) 

	9,200
	
	

	
	 Loss on disposal of machine (+Loss, (SE)

	300
	
	

	
	     Machine B ((A)

	
	
	16,500


c.  Machine C – Disposal on January 1, 2011:
	(1)
	Depreciation expense in 2011 - none recorded because disposal date was Jan. 1, 2011.
	
	
	

	
	
	
	
	

	(2)
	To record disposal:
	
	
	

	
	 Accumulated depreciation, Machine C ((XA, +A) 

	48,000
	
	

	
	    Loss on disposal of machine (+Loss, (SE)

	11,200
	
	

	
	        Machine C ((A)

	
	
	59,200


Req. 2

Machine A - January 1, 2011:  Disposal of a long-lived asset with the price above net book value, resulting in a gain.

Machine B – December 31, 2011:  Disposal of a long-lived asset with the price below net book value, resulting in a loss.

Machine C - January 1, 2011:  Disposal of a long-lived asset due to damage, resulting in a loss.

AP8–6.

Req. 1

	
	Assets
	Liabilities
	Stockholders’ Equity

	Jan. 1  (a)
	License

Cash
	+7,200
–7,200
	
	
	
	

	Jan. 1  (b)
	Leasehold improvements

Cash
	+17,800

–17,800
	
	
	
	

	July 1  (c)
	Assets(1)
(not detailed)

Goodwill 

Cash
	+115,000

+29,000

–120,000
	Liabilities
(not detailed)
	+24,000
	
	

	Dec. 31 (d1)
	Accumulated depreciation, Machine A(2)
	–4,500
	
	
	Depreciation expense
	–4,500

	Dec. 31 (d2)
	Cash

Equipment

Accumulated depreciation, Machine A(3)
	+6,000

–21,500

+18,000
	
	
	Gain on disposal of long-lived asset(4)
	+2,500

	2012  (e)
	Cash
	–6,700
	
	
	Repair and maintenance expense
	–6,700

	Dec. 31  (f)
	Cash

Equipment
	–8,000

+8,000
	
	
	
	


	
	Computations for Acquisition:
	
	
	

	
	(1)
	 Purchase price

	$120,000
	
	

	
	
	 Less: Market value of net assets ($115,000 - $24,000)

	91,000
	
	

	
	
	 Goodwill

	$  29,000
	
	

	
	Computations for Machine A:
	
	
	

	
	(2)
	   Depreciation expense for 2012:
	
	
	

	
	
	  ($21,500 - $3,500) x 1/4 
	$4,500
	
	

	
	
	
	
	

	
	(3)
	 Accumulated depreciation to Jan. 1, 2012

	$13,500
	
	

	
	
	 Add: Depreciation expense for 2012 (above)

	4,500
	
	

	
	
	  Total accumulated depreciation 

	$18,000
	
	

	
	
	
	
	
	

	
	(4)
	   Cash proceeds from disposition

	$6,000
	
	

	
	
	   Net book value of Machine A ($21,500 – $18,000)

	3,500
	
	

	
	
	       Gain on disposal of long-lived asset

	2,500
	
	


AP8–6. (continued)

Req. 2  December 31, 2012 depreciation and amortization expense:

	
	
	

	a.
	License: $7,200 ( 4 years = $1,800

	
	

	b.
	Leasehold improvements:

	
	Amortize over shorter of: 

(a)  remaining lease term = 10 years

or

    (b) life of the asset = 5 years

Amortization for 2012: $17,800 x 1/5 = $3,560

	
	

	c.
	Goodwill: No amortization since it has an indefinite life.

	
	

	d.
	Machine A:

	
	Machine A was sold on December 31, 2012.  Depreciation expense was computed up to the date of disposal.  No additional depreciation is necessary.

	
	

	e.
	This transaction involved a revenue expenditure and not an intangible or capitalized asset.

	
	

	f. 
	Machine B:

	
	 ($18,000 - $2,000) x 1/4 = $4,000 depreciation expense for 2012


       The $8,000 capital expenditure was made on December 31, 2012; no depreciation expense is recorded in 2012 since the reconditioned machine has not yet been used.
AP8–7.

Req. 1   

	a.
	Patent amortization for one year, $18,600 ( 10 years = $1,860.

	
	
	
	

	b.
	Copyright amortization for one year, $24,750 ( 30 years = $825.

	
	
	
	

	c.
	Franchise amortization for one year, $19,200 ( 12 years = $1,600.

	
	
	
	

	d.
	License amortization for one year, $21,700 ( 7 years = $3,100.

	
	
	
	

	e.
	Goodwill is not amortized since it has an indefinite life.


Req. 2

Net book value on January 1, 2015:
	
	
 Item
	
Date Acquired
	Book Value Computations
	
	Net Book Value
Jan. 1, 2015

	a.
	Patent

	Jan. 1, 2012
	
	$18,600 – ($1,860 x 3)
	
	
	 $  13,020
	

	b.
	Copyright

	Jan. 1, 2012
	
	$24,750 – ($825 x 3)
	
	
	  22,275
	

	c.
	Franchise

	Jan. 1, 2012
	
	$19,200 – ($1,600 x 3)
	
	
	  14,400
	

	d.
	License

	Jan. 1, 2011
	
	$21,700 – ($3,100 x 4)
	
	
	    9,300
	

	e.
	Goodwill

	Jan. 1, 2013
	
	$75,000 (not amortized)
	
	
	  75,000
	

	
	Total net book value

	
	
	
	
	
	$133,995
	


Req. 3

The net book value of the franchise on January 2, 2015 ($14,400) is greater than the expected future cash flows ($13,500).  The asset is impaired.  
The loss due to impairment is computed as the difference between net book value ($14,400) and its fair value ($12,000).  The impairment loss to be recorded is $2,400.
COMPREHENSIVE PROBLEM (Chapters 6, 7, and 8)

COMP8-1.
Case A
   Req. 1 (in millions)
	
	  Allowance for uncollectible accounts ((XA, +A) 1

	12
	
	

	
	        Accounts receivable ((A)

	
	
	12


   Req. 2
        Cash collections for 2008 2 were $5,711 million.  
	Accounts Receivable
	-
	Allowance for Uncollectible Accounts
	= Net Realizable Value

	Beg.      558
	
	
	
	20        Beg.
	538

	Sales  5,710
	? Collections
	
	
	5 Bad debt 
	

	
	? Write-offs
	
	Write-offs ?
	expense
	

	End.      545
	
	
	
	13        End.
	532


1 Beg. allowance $20 + Bad debt expense $5 – Write-offs ? = End. Allowance $13

                    Write-offs    = $12

2 Beg. accounts receivable $558 + Sales $5,710 – Write-offs $12 – Collections ? = End. accounts receivable $532
                                                                           Collections = $5,711 
   Req. 3

	
	Net Income
	÷
	Net Sales
	= Net Profit Margin

	2006
	  510
	
	  4,700
	10.85%

	2007
	  497
	
	  5,695
	8.73%

	2008
	$(312)
	
	$5,710
	(5.46)%


The company’s net profit margin has fallen each year while net sales have risen, with a net loss reported in 2008.  This suggests that, although Dr Pepper Snapple’s management has generated increasing sales revenue over time, it is having greater difficulty each year controlling costs and expenses.  

COMP8-1. (continued)
Case B
   Req. 1 


The company should record bad debt expense of $13,900 for 2011.

   Req. 2 


Under current assets on the 2011 balance sheet:


Accounts receivable, net of the allowance for




              doubtful accounts of $12,400                 $607,600
	Accounts Receivable
	-
	Allowance for Uncollectible Accounts
	Net
= Realizable Value

	      
	
	
	1,500
	Unadj. bal. 
	

	
	
	
	
	   Bad debt
	

	
	 
	
	
	13,900  expense
	

	End. 620,000
	
	
	
	12,400        End.
	607,600


Unadj. allowance bal. $(1,500) + Bad debt expense ? = End. bal. $12,400
                                                     Bad debt expense   =  $13,900

Case C

   Req. 1 


The company should record bad debt expense of $481,350 for 2012.

   Req. 2 


Under current assets on the 2012 balance sheet:


Accounts receivable, net of the allowance for




              doubtful accounts of $490,550                 $5,349,450
	Accounts Receivable
	-
	Allowance for Uncollectible Accounts
	Net

= Realizable Value

	      
	
	
	
	9,200 Unadj. bal. 
	

	
	
	
	
	   Bad debt
	

	
	 
	
	
	481,350   expense
	

	End. 5,840,000
	
	
	
	490,550         End.
	5,349,450


Sales revenue         $160,450,000 

x Bad debt rate        x             .003
Bad debt expense   $       481,350

Unadj. allowance bal. $9,200 + Bad debt expense $481,350 = End. bal. $490,550
COMP8-1. (continued)
Case D
   Req. 1 


	11/13 Purch
	
	500
	@
	$21 = $10,500

	11/4 Purch
	
	300
	@
	$19 = $  5,700

	Beg.
	
	100
	@
	$18 = $  1,800


	
	Units
	
	Cost

	Beginning
	100
	
	$  1,800

	Purchases
	800
	
	16,200

	Available for sale
	900
	
	$18,000

	Less: Sales
	(700)
	
	

	Ending
	200
	
	


a.  FIFO
     Cost of ending inventory:

Layer  ( 200 units x $21 = $4,200
Cost of goods sold:

Layers ((100 x $18) + (300 x $19) + (300 x $21) = 
                    $1,800    +     $5,700    +     $6,300    =  $13,800
OR

Cost of goods available for sale
$18,000  ($1,800 beg. + $16,200 purch.)

Less:  Cost of ending inventory
    4,200
Cost of goods sold


$13,800
b. LIFO
     Cost of ending inventory:

Layers ( (100 units x $18) + (100 units x $19) 

                            $1,800     +      $1,900            = $3,700
Cost of goods sold:

Layers ((500 x $21) + (200 x $19) = 

                  $10,500    +     $3,800    =  $14,300
OR

Cost of goods available for sale
$18,000  ($1,800 beg. + $16,200 purch.)

Less:  Cost of ending inventory
    3,700
Cost of goods sold


$14,300
COMP8-1. (continued)
Case D (continued)

c. Weighted average
     Cost of ending inventory:

Cost of goods available for sale
$18,000  ($1,800 beg. + $16,200 purch.)

 ÷ Number of goods available         ÷   900 units

Cost per unit                                       $20 per unit
200 units ending inventory x $20 per unit cost = $4,000 ending inventory cost

Cost of goods sold:

700 units sold x $20 per unit cost = $14,000 cost of goods sold

 
OR

Cost of goods available for sale
$18,000  ($1,800 beg. + $16,200 purch.)

Less:  Cost of ending inventory
    4,000
Cost of goods sold


$14,000
   Req. 2 


a.  Gross profit under FIFO method
     Sales revenue (700 units sold x $50)
$35,000


Less:  Cost of goods sold


  13,800

Gross profit




$21,200

Gross profit percentage = $21,200 gross profit ÷ $35,000 sales





 = .6057   or 60.57%

b. Net income under LIFO method
	Sales revenue
	$35,000

	Less:  Cost of goods sold
	14,300

	     Gross profit
	20,700

	Operating expenses
	16,000

	Pretax income
	4,700

	  Income tax expense
	1,410

	Net income
	$3,290


c. The LIFO method should be recommended to Stewart for tax and financial reporting purposes.  Prices of inventory are rising.  When prices rise, LIFO yields the highest cost of goods sold, lowest net income, and, for tax purposes, the lowest tax amount.  When a company chooses LIFO to save taxes (reduce cash outflows), the LIFO Conformity Rule indicates a company must also use LIFO for financial reporting purposes, even though it reports the lowest net income.  

COMP8-1. (continued)
   Case D (continued)

   Req. 2 


For valuation purposes, ending inventory is to be reported at the lower of cost or market, a conservative approach so that assets are not overstated, thus reducing net income.  When Stewart applied the LCM method, the following comparisons were made:
FIFO cost as calculated


$4,200

Replacement cost (200 units x $19.50)
  3,900

Since replacement cost
(market) is lower than FIFO cost, Stewart should report the $3,900 on the balance sheet at the end of the month.  The $300 difference will increase cost of goods sold, which will reduce net income for the month.

Case E
   Req. 1 Partial depreciation schedules:

a.  Office equipment using double-declining-balance method

	Year
	Computation
	Depreciation Expense
	Accumulated Depreciation
	Net Book Value

	2011
	($50,000 - $0) x 2/3
	33,333
	33,333
	16,667

	2012
	($50,000 - $33,333) x 2/3
	11,111
1,667
	44,444
35,000
	5,556
15,000 residual value

	2013
	Fully depreciated
	0
	35,000
	15,000


b.  Factory equipment using units-of-production method

 (Cost – Residual Value) / Total estimated production =Depreciation rate 

 ($840,000 - $0) / 100,000 hours = $8.40 per hour           

	Year
	Computation
	Depreciation Expense
	Accumulated Depreciation
	Net Book Value

	2011
	$8.40/hour x 8,000 hours
	67,200
	67,200
	772,800

	2012
	$8.40/hour x 9,200 hours
	77,280
	144,480
	695,520

	2013
	$8.40/hour x 8,900 hours
	74,760
	219,240
	620,760


COMP8-1. (continued)
Case E
   Req. 2  

	
	Cash (+A)


Accumulated depreciation, factory equipment((XA, +A)

	700,000 219,240 
	
	

	
	        Factory equipment ((A)

	
	
	840,000 

	
	          Gain on sale of equipment (+Gain, +SE) 
     
	
	
	79,240


   Req. 3  
     Net book value of patent = $300,000 cost – ($20,000 annual expense x 3 years)





  = $240,000
                                      $300,000 cost x 1/15 = $20,000 amortization expense per year
    Test for possible asset impairment:

Net book value of patent ( $240,000             Impaired

Future cash flows (            $210,000 

Since the net book value of the patent exceeds its future cash flows, the patent is impaired and must be reduced to its fair value.

   Computation of impairment loss:


Net book value of patent (  $240,000


Fair value (


  $190,000
Impairment loss

  $  50,000   reported on the income statement
CASES AND PROJECTS

ANNUAL REPORT CASES

CP8–1.

1. The company spent $265,335,000 on property and equipment in the 2008 year (this information is disclosed on the Statement of Cash Flows).

2. The estimated useful life of leasehold improvements is the lesser of 5 to 10 years or the term of the lease (disclosed in Note 2 Summary of Significant Accounting Policies under the heading Property and Equipment).

3. The original cost of furniture, fixtures, and equipment held by the company at the end of the most recent reporting year was $536,009,000 (disclosed in Note 6).

4. Current depreciation and amortization expense is $133,141,000 (disclosed on the Statement of Cash Flows; note that the amount reported on the Income Statement is $131,219,000 because part of the $133,141,000 is included in cost of sales), but accumulated depreciation and amortization increased by only $92,647,000 ($558,389,000 – $465,742,000, disclosed in Note 6).  The difference of $92,647,000 may be due to write-offs of capital assets (impairment losses) of $6,713,000 reported on the Statement of Cash Flows.

5.







            (in thousands)

	
	Fixed asset 
	=
	Net Sales
	=
	$2,988,866
	=
	4.38

	
	turnover
	
	Average Net Fixed Assets
	
	($625,568 + $740,240)/2
	
	


 Net sales is found on the Income Statement, and net fixed assets are found under “Property and Equipment” on the Balance Sheet.
CP8–2.

1.  The company uses the straight-line method of depreciation.  This is disclosed in Note 2 Summary of Significant Accounting Policies, under the heading “Property and Equipment.”

2.  Accumulated depreciation and amortization was $355,957,000.  This is disclosed in Note 5.

3.  Furniture and fixtures have estimated useful lives of 5 years. This is disclosed in Note 2 Summary of Significant Accounting Policies, under the heading “Property and Equipment.”

4.  The original cost of the leasehold improvements was $486,959,000.  This is disclosed in Note 5.

5.  Depreciation and amortization expense was $81,949,000. This is disclosed on the Statement of Cash Flows.  

6.







  (in thousands)

	
	Fixed asset 
	=
	Net Sales
	=
	$1,834,618
	=
	3.69

	
	turnover
	
	Average Net Fixed Assets
	
	($488,889 + $505,407)/2
	
	


This ratio measures how efficiently Urban Outfitters utilizes its investment in property, plant, and equipment over time.  Net Sales is disclosed on the Income Statement, and net fixed assets are disclosed on the Balance Sheet under “Property and Equipment”. 

CP8–3.

1.  

	
	American Eagle Outfitters
	Urban 
Outfitters

	Fixed assets as a % of total assets
	37.7%
	38.0%

	
	($740,240 / $1,963,676)
	($505,407 / $1,329,009)


If one examines the balance sheets for the two firms, American Eagle and Urban Outfitters have nearly the same percentage of current assets to total assets as well as nearly the same percentage of fixed assets to total assets.    

CP8–3. (continued)

2.  

	
	American Eagle Outfitters
	Urban 
Outfitters

	Percent of gross fixed assets that have been depreciated
	43.0%
	41.3%

	
	($558,339 accum. depr. / $1,298,629 cost.)
	($355,957 accum. depr. / $861,364 cost)


These percentages are somewhat similar.  Differences are potentially due to Urban Outfitters having slightly newer fixed assets and also depreciating buildings over 39 years rather than 25 years as American Eagle does.

3. 

	
	American Eagle Outfitters
	Urban 
Outfitters

	Fixed Asset Turnover
	4.38
	3.69

	
	$2,988,866 / 

($625,568 + $740,240)/2
	$1,834,618/ 

($488,889 + $505,407)/2


American Eagle appears to have the higher efficiency level for fixed assets.   The company generates more than one and one-half times as much in net sales as Urban Outfitters, but has only one and one-third times more in net fixed assets.

4.  
	
	Industry Average
	American Eagle Outfitters
	Urban 
Outfitters

	Fixed Asset Turnover
	5.76
	4.38
	3.69


Both American Eagle Outfitters and Urban Outfitters have a fixed asset turnover ratio that is below the industry average, with Urban Outfitters having the lower fixed asset turnover ratio.  This suggests that both companies are less efficient in generating sales with fixed assets than the average company in the industry.  This could be due to both companies continuing growth strategies of investing in new stores which have yet to reach their potential to generate sales. 

FINANCIAL REPORTING AND ANALYSIS CASES

CP8–4.

More than three competitors are listed in each of the following industries.  
Examples include:

	
	Industry
	Company name (Symbol, if available)

	1.
	Airline
	Delta Air Lines,Inc. (DAL)

	
	
	AMR Corporation (AMR)

	
	
	Continental Airlines Inc. (CAL)

	2.
	Hotels & Motels
	Wyndham Worldwide (WYN)

	
	
	Starwood Hotels and Resorts  (HOT)

	
	
	Marriott International Inc. (MAR)

	3.
	Footwear
	Brown Shoe Company, Inc. (BWS)

	
	
	Skechers USA, Inc. (SKX)

	
	
	The Timberland Company (TBL)

	4.
	Computer Hardware
	Hewlett-Packard (HPQ)

	
	
	Western Digital Corp.  (WDC)

	
	
	EMC Corporation (EMC)


CP8–5.

Req. 1

	
	Depreciable assets:
	

	
	  Buildings and improvements

	$ 2,818,300

	
	  Fleet and equipment


  Computer hardware and software 
	     2,072,116
      569,669

	
	   Total

	$5,460,085

	
	      Depreciation expense

	(     361,062  

	
	   Estimated useful life
	 15.12 years


Req. 2

	
	  Accumulated depreciation

	$   2,788,213

	
	  Depreciation expense

	  (     361,062

	
	     Average age
	   7.72 years


At best, these are very rough estimates but they are probably the best that can be made as an analyst. Some prefer to use an average of several years which is an acceptable alternative.  Likewise, dividing Accumulated Depreciation (used cost) by the total cost of the fixed assets yields the percentage of the assets’ cost that have been allocated ($2,788,213 ÷ $5,460,085 = 51% used).
CP8–6.

Req. 1

The cost of the property, plant, and equipment at the end of the current year is $3,911 million computed as follows:

  
Cost – accumulated depreciation = Net book value


  ?    – $1,178 million (from the notes) =  $2,733 million (from the balance sheet)



Cost = $3,911 million
Req. 2

The approximate age of the property on that date was 4 years, computed as follows:


$1,178 accumulated depreciation ( $289 depreciation expense = 4.076 years

Req. 3

Current year fixed asset turnover ratio:


Sales ( [(Beginning net fixed assets + Ending net fixed assets) ( 2)]


         $9,714 ( [($2,559 + $2,733) ( 2] = 3.7 times

This ratio is a measure of a company’s efficiency in utilizing fixed assets to generate revenues.  To evaluate Cain’s ratio, it should be compared to ratios in previous years and also to other companies in the industry.

Req. 4

Cain reported $3,076 million as goodwill that represents the amount Cain paid above fair market value for the net assets of other companies Cain purchased.

Req. 5

The amortization and depreciation amounts, totaling $497 million, are added to income from continuing operations because these are noncash expenses.  No cash is paid when these amounts are recognized.  To determine cash provided by continuing operations, all noncash expenses, losses, revenues, and gains need to be adjusted out of income accounted for on the accrual basis.  Since noncash expenses reduce accrual-based income, they need to be added to income to determine cash-based income.

CP8–7.

Consider the kinds of transactions that make Property, Plant, and Equipment and Accumulated Depreciation change during a period:

(in millions)

	Property, Plant, and Equipment
	
	Accumulated Depreciation

	Beg. bal.   7,327
	
	
	
	5,516     Beg. bal.

	Acquire       254
	?      Disposal
	
	Disposal       ?
	420  Depr. Exp.

	End. bal.   6,805
	
	
	
	5,254     End. bal.


Property, Plant, and Equipment (at cost):  

Beg. bal., $7,327 + Acquisitions, $254 ( Disposals, ? = $6,805






          Disposals     =  $  776
Accumulated Depreciation (used):


Beg. bal., $5,516 + Depreciation expense, $420 ( Disposals, ? = $5,254








     Disposals    =  $   682
Net book value of disposals ($776 cost – $682 accumulated depreciation)     $  94

Gain on disposal of property                                                                                 14
Cash proceeds when property was sold                                                          $ 108
CRITICAL THINKING CASES

CP8–8.

Req. 1

The interest coverage ratio is a measure of the ability of a company to meet its obligatory interest payments from current operations. A company with a large coverage ratio has a greater ability to meet its interest obligations than a company with a small ratio (other things being equal).

Req. 2

Hess did not include the capitalized interest in its reported interest expense. Instead this amount was included in an asset account and will be included in depreciation expense over the life of the asset.

Most analysts include interest expense and capitalized interest when calculating the coverage ratio. Interest must be paid to the creditor whether it is listed as an expense or capitalized. This case is a good example of why users of financial statements must understand accounting and where to find information in the statements.

CP8–9.

Req. 1

	Amounts in millions of US dollars
	Q1 Year 1 (March 31)
	Q2 Year 1 (June 30)
	Q3 Year 1 (September 30)
	Q4 Year 1 (December 31)
	Q1 Year 2 

(March 31)

	
	With the entries
	Without the entries
	With 

the entries
	Without the entries
	With the entries
	Without the entries
	With the entries
	Without the entries
	With the entries
	Without the entries

	Property and equipment, net
	$ 38,614
	$37,843
	$ 35,982
	$34,651
	$ 38,151
	$36,077
	$ 38,809
	$35,794
	$ 39,155
	$35,322

	Sales revenues
	     8,825
	8,825
	8,910
	8,910
	8,966
	8,966
	8,478
	8,478
	8,120
	8,120

	Operating expenses
	7,628
	   8,399
	8,526
	9,086
	7,786
	 8,529
	7,725
	  8,666
	7,277
	8,095

	Operating income 
	1,197
	426
	384
	(176)
	1,180
	437
	753
	(188)
	843
	25


The above table shows that the “special journal entries” had the effect of reducing operating expenses and increasing property and equipment in each quarter. The reduction in operating expenses directly increased operating income, in some instances allowing the company to report positive earnings rather than losses (see Q2 and Q4 of Year 1).

	Note: Because Property and Equipment is a balance sheet account that carries its balance forward from one period to the next, the computation of its book value “without the entries” must take into consideration the cumulative effects of the entries, calculated as:

	Q1: $37,843 = $38,614 - $771 (Q1)

	Q2: $34,651 = $35,982 - $771 (Q1) - $560 (Q2) 

	Q3: $36,077 = $38,151 - $771 (Q1) - $560 (Q2) - $743 (Q3) 

	Q4: $35,794 = $38,809 - $771 (Q1) - $560 (Q2) - $743 (Q3) - $941 (Q4) 

	Q1Y2: $35,322 = $39,155 - $771 (Q1) - $560 (Q2) - $743 (Q3) - $941 (Q4) - $818 


CP8-9. (continued)

Req. 2

	
	
	
	
	Q2 Yr 1
	Q3 Yr 1
	Q4 Yr 1
	Q1 Yr 2

	
	
	
	
	
	
	
	

	Fixed Asset Turnover Ratio


	=


	Net Sales
	=


	  $8,910 

$37,298*


	  $8,966 

$37,067+


	  $8,478 

$38,480^


	  $8,120 

$38,982†



	
	
	Average Net Fixed Assets
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	=
	0.24
	0.24
	0.22
	0.21

	
	
	
	
	
	
	
	


37,298* = (38,614 + 35,982)/2

37,067+ = (35,982 + 38,151)/2

38,480^ = (38,151 + 38,809)/2

38,982† = (38,809 + 39,155)/2

The trend across the four quarters shows a gradual and steady decline, suggesting the company is becoming less efficient in the use of its assets. This decline is somewhat consistent with the drop in operating income between Q3 and Q4 of Year 1. However, the trends between operating income and fixed asset turnover are not entirely consistent because operating income shows a big increase from Q2 to Q3 in Year 1 and a small increase between Q4 of Year 1 and Q1 of Year 2 at a time when the fixed asset turnover ratio shows decreases in operating efficiency. This inconsistency is puzzling.

CP8-9. (continued)

Req. 3

Looking back, there are a number of questions that might have been raised:

· Why you? It’s unusual that the CFO chose someone who doesn’t have experience with transactions of that magnitude.

· Why a new account?  It’s unusual that a new account has been created for these special advance payments, when an “equipment deposit” account already existed for transactions supposedly of a similar nature.

· Why process the transactions through the operating division? The CFO didn’t offer a clear reason why the transactions were posted in an abnormal manner, requiring an unusual end-of-period adjustment. (Adjustments like this made at the request of management are sometimes called “top-side adjustments.”) 

· Why no support for the amounts? If these truly represented contractual prepayments for equipment, they would be supported by a copy of the contract or a cashed check.

· Why were the sources of information untraceable? Anonymous Post-it notes and easily deleted voicemail messages might lead you to wonder if someone is being careful to cover their tracks. 

· Why were the amounts so big in comparison to the existing property and equipment balances and other equipment purchases that period? 

· Why weren’t the prepayments ever reduced? The length of time to complete the prepaid equipment deals had exceeded a year, when a normal prepayment was outstanding for only a few weeks at a time.

· Why did the CFO always compliment you and promise big promotion opportunities for what you must have thought was merely doing your job? 

CP8-9. (continued)

Req. 4

As a staff person, you can’t doubt or mistrust every assignment you are given. If you did, you’d likely find yourself out of a job. So, instead, you need to be able to tell the difference between routine/ordinary requests and unusual requests.  When you are confronted with unusual requests, attempt to understand and evaluate the reasons for those requests. Consider who is benefited and who is harmed by the actions you are asked to take. If you are concerned about the ethical or legal implications of your actions, consult with colleagues independent of the person asking you to take those actions. Finally, be sure to read and follow your company’s code of ethical conduct. Many companies make it easy for you to bring ethical concerns to the attention of an oversight committee.  
Req. 5

Clearly, the investors in WorldCom (or World-Con, as it was being called) were devastated by the news. In the days following the announcement that the company would restate its 2001 and 2002 financial results, WorldCom’s stock price lost about 90% of its value.  Ultimately, stockholders would lose all that they had invested, when the company entered into and emerged from bankruptcy. This meant that millions of working people and retirees no longer had the investment income for which they had saved and on which they had made their retirement plans. It also meant that money invested in kids’ college funds was gone—more than likely, you or one of your classmates has to work a part-time job this term to pay for tuition that could have been funded by your parents’ investments had it not been for the WorldCom fraud.

WorldCom’s creditors also were severely harmed. Soon after the company’s true financial condition became known, WorldCom filed for bankruptcy protection. This legal maneuver gave the company time to restructure its operations and propose new financing arrangements that would keep the company alive. Existing creditors eventually resigned themselves to the fact that they would have to forgive $36 billion of the company’s debt if the company was to survive. This meant that the average creditor was repaid only 42% of what was owed by WorldCom.    

The company’s external auditors also were severely hurt because they had failed to detect the fraud. Undetected fraud is always bad news for external auditors, but this situation was even worse because WorldCom’s external auditors had been Arthur Andersen—the same firm that had failed to detect and report the Enron fraud just one year earlier. Just as Andersen was bracing for a whirlwind of Enron-related lawsuits, WorldCom’s problems were discovered and that was the end of Arthur Andersen.

These are just three of the groups directly affected by WorldCom’s fraud. Countless others were adversely affected as well, as the effects of WorldCom’s fraud and business failure spread through the economy like the ripple of a stone dropped in a pond. Employees were laid off, other companies lost WorldCom as one of their primary customers, the confidence of investors in other companies was shaken (causing other losses in investment value), and the government held numerous meetings to discuss how to protect the American economy from shocks like this in the future.

CP8–10.

Req. 1

a.
Cash flows:  Because cash was paid for interest, cash decreases (-).  However, the amount of interest expense that was capitalized caused expenses to be lower and net income to be higher.  
b.
Fixed asset turnover ratio is lower (-) because the denominator is higher due to interest capitalization.

Req. 2

Because the fixed asset turnover ratio has decreased due to the additional interest capitalization, all other things equal, one would infer that Marriott management’s effectiveness in utilizing fixed assets has also decreased.

Req. 3

Although the fixed asset turnover ratio decreased due to the interest capitalization, this does not indicate a real change in asset efficiency.  The same asset is used to generate the same level of net sales, regardless of whether the interest is capitalized or expensed.  This highlights the need to adjust for the effects of differences in accounting policies when evaluating a company and making comparisons across time or across different companies.

FINANCIAL REPORTING AND ANALYSIS TEAM PROJECT

CP8–11.   Due to the nature of this project, responses will vary.

Too large.  Net book value cannot be below residual value.





Too large.  Net book value cannot be below residual value.
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